T4V AV REPT_ARAD =V 94 LRTIa-)
255 QEﬂﬁ {9/1(B)~9/30(N)}

;!g 80% 604 85? g % () 2EEE
? A 2 o . =) L T ; Tl Ge s Rlola ? ¥ Ly RVERKHITIEZEE. Ly AVDEED
f = ; i - P A BE R i 1 BB TWE BRIODAZ T
| 1 w ] v i
S|/ B8 g 2 EgEr 20D i1z Lls]5 BFIOY FETTEB RS,
2|8 B g R e REREE R LB SO I I =
F R w | YL | BL. #—-BR\YSRICELTRENE TSANTETY,
) | t o DA | & NN _ .
st ® %g o | #& T;u s ® T;u 2;; " ;$ ?$ §$ T# ?ﬂ st SERBANCEBERRAIBLETD,
B MY BB Mgl &M g e | M s1 =22 |88 |2 |22 | ®
® £ £ T L SEISTSTS Xm0 A~&@E 9:00~ 23:00
g 10(16)[10(16)|10(16)| 10(16)| 10(16)| 8 8 8 |8(12|8(12) 6 [10(16)[10(16)|10(16)|10(16) g +@8 7:30~ 21:50
22| 14 | 14| 14| 14 | 14 | 10| 10 | 10 10 | 14| 14 | 14 | 14252 BRH 7:30~ 17:50
A W 7K X & T =]
9:30 s 8:00 I 800
| |
e 9|2 p AR ® |4 ® | 1 o w |2
A & o P | $ S é\ S &
oso|  BE | OE| EE | BB P | s SN | 0 | B | BN | BE os0 | ER | NI os0| =B | WV
T
1085 7 9:30 9:30
| al T o | A b N F g B o)
B J: 5; Ry CF' o] Fﬂ | EP J: ¢' A q:' CP ?JJ A J: m
| B | B ik | PE P | @ ok | EN| | e | B =
12115 jos0| E | ER | Bk 1o50| =& VR
T
BC 11:00 11:00 ‘
e | DA b |
B o | P9 B th
1315 ’7" T
IZ% :Tg & ng )] LIA & 20| NI | BB | R 1zpo| M| =R
C e — Ee o e — = =
EP  — — 12:30 /j' 12:30 ’j" /j'
1aas| B =g | & tem nE || s 4l A
o= L L
e 7|7 c m= o |C K
| INREEEE P T T . P .
D R, i Al A|d| P ] T; e - —— 1aso0| NI | BR 1aso| WM | BE | 1
] FoH =B ] ——
14:00 14:00
1600 B =g | E0| Bk | 0 | o )| )l S| R S | R
J2 J2
vk | = BE | ®
16:20 15:.00 15.00
S R R R S R R 15.00 18.00
O | G O | G
J4 J3 Js
Ok | P FS e SOk | I s
17:20 I | 58 BE | B
17:20 16:.00 16:00
O | G o | G O] G o | G O| G 16:00 16:00
oG A P
J5 Ja =
8% | ot £l | B NG | 0% | U #0E | ik E F3 1
= sz % |
i P 7 i 7w . | ®
G = =) N - B—" 1,8 1710 - 17:20
2 — v — 1 — sy = 1 = T+
— . ' =, = 2 Ee s A — —
ME:: &) IVRE VR N | &0 Jo 1T ==
S s 25—\E 500M/30%8(1 N
# L] ot A )| A 1830 EY5— 1,300M/30%(1A)
H p— P ||| D 5P P D =g | e mm_ sossm
— — — [ — FRAE  ERICROES
s1io0| BE AN B R | @ B | 0 | L0 8K ik | Em | G 2 BN SIS
: A~& 9:00~23:00
T > 1950| I | 1B T 7:80~21:50
A Ep ?}J 1 ¢| m A - B 7:30~17:50
| e = e e N R VN = 2000 7 SRR 1 7 An05
e ha £, = FrruLBS
2230| BE £ | Gl | U | B | EN1 | 8K N | v | B H =i *Ezgisaz*ﬁ
NEACLDEYI—FIEET BBENBOETOTT TRFEN s1z0| M| 1B HL Y5 LRI 100%
KBBUTDHSAIEBTBRBENDVFITOTTETEI —
K—BS ZEPREN FOSOTHBICROET RALYINSTY H
KRTI—FOBRSER, M—ANR—IEDRERIES
X2BEREFS5BMUE, 3BRE>7AUE
SERAMEDEERS DBPRABEBDFT

4 MY RTTF=RARI—N
052—848—-4030 I:IU\JM':_'\



